ANSWER, FIND, AND SHADE ANSWERS
Multiplying and dividing by multiples of 10. Round all answers to the nearest whole number.
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14, 60,000 <+ 300 = 200 20. 13 x 400 = 5,200
5. 21,793.8 <+ 100 = 218 21. 744,356 <+ 1,000 = 744
1. 231 x 200 = 46,200 2. 9,999 + 30 = 333
17. 600 <+ 20 = 30 23 12 x 500 = 6,000
18, 315 x 30 = 9,450 2. 842 + 200 = 4
19. 361.97 x 100 = 36,197 25. 0.9979 x 1,000 = 998
Solve each problem, find the answer in the box below, and shade in the corresponding letter in the picture.
A 166 1 78 S 6,000 AA 36,197 I 50 RR 780
B 4 J 9,450 T 84 BB 2,000 JJ 60 SS 8,955
C 486 K 744 U 33 cc 17 KK 46,200 TT 4,128
D 5 M 42 VvV 218 DD 21,259 LL 641 Uu 5,047
E 5,200 N 41,281 W 926 EE 2,189 MM 7,241 ww 200
F 49 P 2,126 X 505 FF 945 NN 7,444 XX 998
G 8 Q 1,000 Y 6,413 GG 89,546 PP 333 YY 840
H 3,610 R 30 Z 4,620 HH 4,861 QQ 93 ZZ 40
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